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Final Answer key of the written test held on 28/08/2022 (Sunday) for the post of Light Vehicle Drive-A

gooh dlgel dlelsh -T & UG o TolU 28/08/2022 XTAaAR) &I 3ATd foiflad adiem & wea &r 3ifas
3 Foll, AT W 9o 34 yiafafdcd R GaR el & a1, 580 1Y Hoval g1 3 e
3deal W faarR sigT fohar Smuem|

The final Answer Keys to the Question of the written test held on 28/08/2022 (Sunday) for the post

of Light Vehicle Drive-A, after considering the valid representation received on time, is enclosed
herewith. No further representation will be entertained.

e SATH Post Name wRaT YRt H@er & forw 3ifdsr 3o Fon
Final Answer Key for Question Booklet Series
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Light Vehicle Drive-A A B c D E




Set A Set B Set C
1lc 26|c 51|c 76|d 1lc 26(d 51fc 76|c 1la 26|d 51(a 76(b
2|b 27|a 52|c 77|c 2|d 27|b 52|b 77|d 2(b 27|c 52|d 77]|c
3|b 28|b 53|b 78|a 3|c 28|c 53|c 78]a 3|b 28|d 53]c 78]a
4|c 291b 54|c 79|c 4|a 29(d 54(a 79(b 4|c 29(b 54(b 79|d
5|a 30|a 55|b 80]|d 5|c 30|b 55|d 80|c 5]a 30]a 55|d 801]b
6(b 31lb 56|c 81|c 6[* 31{d 56(c 81|d 6|c 31fc 56(d 81(a
7|c 32|c 571a 82]c 7|b 32|c 57|b 82|d 7]a 32|b 57|d 82]a
8|c 33|c 58|d 83(b 8|d 33(a 58|d 83|a 8(b 33(b 58|d 83|c
9|c 34|d 59|c 84(b 9(a 34|b 59(d 84|c 9(b 34|c 59(a 84(d
10|a 35|d 60|b 85|d 10|c 35(a 60(d 85|a 10|a 35(a 60|c 85(a
11|c 36|b 61|d 86|d 11]a 36|d 61|(d 86|a 11|b 36(b 61(b 86|c
12|d 37|d 62|d 87|a 121b 37|c 62(a 87|c 12]c 37|c 62|c 87|b
13|c 38|c 63|d 88|c 13|b 38|d 63|c 88|d 13]c 38|c 63|c 88(b
14|a 39(d 64|d 89|a 14|a 39(b 64|c 89|a 14|d 39|c 64(b 89(b
15]* 40|b 65|a 90|a 15]|c 40]a 65(b 90|c 15|d 40|a 65|c 90(d
16|c 41|d 66|a 91|c 16|c 41]c 66(a 91(b 16|b 41|c 66|c 91(d
171b 42|c 67|b 92(d 17]b 421b 67|d 92(b 17|d 42|d 67|d 92(b
18|d 43]a 68|c 93|a 18|a 431b 68|b 93(b 18]c 43|c 68|a 93|c
19]|a 441b 69(a 94|c 19|b 44|c 69|c 94(d 19|d 44|a 69(b 94(c
20|c 45]a 70(d 95(b 20|b 45]a 70(d 95(d 20(b 45|* 70(d 95(b
21|a 46|d 711b 96(b 21|a 46]b 71|a 96(b 21{d 46(c 71|c 96(b
22|b 47|c 72|c 97|b 22]c 47|c 72|b 97|c 22]c 47|b 72)a 97|d
23|b 48|d 73|d 98|d 23|c 48|c 73|d 98|c 23(a 48|d 73|c 98|d
24|c 49]b 74|a 99(d 24|d 49]c 74(c 99(b 24(b 49|a 74|(d 99(a
25|a 50|a 75|b 100]b 25|d 50(a 75|a 100|b 25(a 50|c 75(a 100|c

* AlssA GriRoll UgURA(A 2 wellolleoll [AsEAMT URUR Aloll $IRAL HElSot UHA WL Yol QLA H] A o8l Aell, BRE AR 6 812 100 2JQlal (e @ 99 Migll dLgleldi e,

* fARET 3R &1 3eqafufd 3R 3R el & IETsedr & HROT, ThR T Fediched Hd THT 3 T R faaR =781 foham Sirwar| gafav, Ueh 37AGaR & ol TR T IT0TAT 100 & ST 99 3ieh H A Y Srwah|

* Owing to absence of a definite answer and ambiguity in the answer options, this question will not be considered while evaluating the score. Hence, the total score of a candidate will be calculated out of 99 instead of 100
Marks.



Set D Set E
1|b 26(b 51(b 76|d 1|d 26|c 51|d 76|d
2|c 27|c 52|d 77\b 2|c 27|b 52|d 77]a
3|c 28|c 53]|d 78|c 3(b 28|d 53]a 78|b
4]d 29|c 54(d 79|d 4]a 29(a 54(c 79|d
5(d 30]a 55|d 80]a 5|a 30|c 55]c 80|c
6(d 31fc 56(a 81|a 6(d 31(a 56(b 81|b
7|b 32|d 57|c 82|c 7|d 32|b 57|c 82|d
8|c 33|c 58|c 83(b 8|c 33|b 58(b 83|d
9|d 34(a 59(b 84(b 9|b 34(c 59|c 84(b
10|b 35|c 60|c 85(b 10|a 35(a 60(a 85|c
11|d 36(* 61(b 86|d 11]c 36|c 61|d 86|c
12]c 37(b 62|c 87|d 12]b 37|a 62|c 87|b
13|a 38|d 63(a 88|b 13|b 38|b 63(b 88|b
14|b 39(a 64|d 89|c 14|c 39(b 64|d 89|d
15|a 40(c 65|c 90|c 15|a 40|c 65|d 90|d
16|d 41|a 66(b 91(b 16|b 411b 66(a 91|a
17]|c 421b 67|d 92(b 17]|c 42]c 67|c 92|c
18|d 43|b 68|c 93|d 18]c 43]a 68|d 93|a
19|b 44|a 69(a 94(d 19]c 44|d 69(a 94|a
20]a 45(c 70|c 95(a 20(a 45]d 70(b 95(c
21|c 46|c 71|d 96|a 21|c 46|c 71|c 96|d
22(b 47\b 72(a 97|c 22|d 47|d 72]a 97|a
23(b 48|a 73(b 98|a 23|c 481b 73|d 98|c
24(c 49|b 74|c 99|c 24|a 49|d 74(b 99(b
25(a 50(a 75(a 100|d 25(* 50(b 75|c 100|b

* AlssU GriRell WURA(A wA scllollatl [AsEAHT AU Aloll $IRAL Yealisol UHA L Ysa ALl ad o1gl. Aell, GRE R A 2512 100 9[QlA (e @ 99 Higll Rl 2L,
* AR 3o &Y Ul iR 3o fashedl # Iesedr & HROT, ThR T Hediched HId THY $H T R R g1 foham Seem| gafAT, T 3FfieaR & el T T I0TAT 100 & ST 99 3ih
H @ & STt

* Owing to absence of a definite answer and ambiguity in the answer options, this question will not be considered while evaluating the score. Hence, the total score of a candidate will be calculated out of
99 instead of 100 Marks.



